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Fs i e 4 7l SiMiEs
1 o 7z 411402%%xx%k%k%%4538
2 IR % 7 411403%*x%%*x%%%x6056
3 RS 7 41270 1 %skkxkx%%4090
4 i z 411425%%kxkk%%k4232
5 & S 411425%%xxk%k%%k5440
6 p{iRi e 411426%*xxx%k%%k83143
7 =/ E 412301 skskkokrkk205 1
8 A £ [ 5y 412301 skskokokrkk2525
9 fTHE g e 412326%*x%**x%x**x(0986
10 = 58 412326%*%kkk%k*x7528
11 % 1 7T -8 412326%%kkkskkk4822
12 17 %5 17 59 4114265 %skkkkkk242 |
13 iR 5 412326%kkkskskkk] 828
14 AN 58 411403 %kkxk%k%k%x5] 62
15 H&Z i@ 41142 3%%%k%k%k%k*k*x0644
16 HE & B 411402%%k%kk%k%k%%x305X
17 HE Z 411402%kxkxkx%x051 1
18 = ¥ B 58 411425%*xkkk%k*%x3323
19 il .S 411402%xkk%%k%% 1065
20 DRI 7 41142 1 %xskkkskkx4034
21 =3y 7 411403%xkkkk%k%%x6053
22 Z=F+ 58 411402%%%x%k%k*x8244
23 Z [ # 5 411402%kxkkkx%0558
24 e 4 e 412301 *kxxxk%k%004 3
25 AR e 412326%*xxkxkk%k%k5423
26 Zs 1A 58 41140 3%*kskkkk%x8722
27 E=RE .S 411403 s%kkkkkxk724 |
28 o 5 41282 1 sskskskskokxkk0223
29 eSS 5 411403%kskkskk4k 1 220
30 Y 7z 411421 %%kxx%x%%x4897
31 = e 411403%kxxx%%%694X
32 ki 7 41280 1 kkskkskskkk 1454
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Fs "2 4 7l SMiES
33 x| 2 S 411425%xkx%k%%k2449
34 x| A A S 411422%xkx%%kx%k]1561
35 x| B 5 412301 skskkokrksk054 1
36 x| & 5 411403%s%kkskk%%k9315
37 x| FE 5 411424 x%%kx%kk+k3863
38 %5 58 411403%*x%kkk%k%x(0948
39 Z 58 5 411628 %kxkskkx%0620
40 E il % 411421 %%%xx%x%x0030
41 el z 411403 *kkk%k%%k8430
42 2l = 58 411425%kskkkk*kx57 24
43 VR 5 411403 %kskkkx4k 1 062
44 I 5 e 411425%%kxx%k%%2]146
45 FNAEE % 412326%*kkkk%k%%x2440
46 H* 7 372922%kkxkkx%737 |
47 M 7 411402%*kkk%k*x]1513
48 FIEFE 5 412326%kxkkkx%k5165
49 T & 7 411403%%skkksk%%k] 234
50 FAE & 411425%%%kkkkkkx] 048
51 FTFT 5 411403 %kxkkkx%8747
52 FHE 5 411402s%%skkkx%%1 020
53 T # Ik F 411421 %kkkskkx%0136
54 FH 58 411481 x*kkkkkxx] 821
55 W= 5 412301 *kskkkskkx0022
56 HE = = 411481 xkkxkk%%k0628
57 BWEE e 411403 %kkxx%k%%x81 20
58 A S 411402%kxkkkx%k7349
59 M T 5 411425%kkkkkx%0623
60 YR F 411424%%xkkkx%331X
61 AR e 411424%%%kxx%x%xx0027
62 M 37 % S 511023 %kskkkkk%2 160
63 w1 7 411402%*x%kkk%k*x5517
64 A 7 412722%%xx%kx%%k845X
65 mt % FH k= 412321 kkkkkk%k%x001 1
66 I 7 411402%*k%k*k%k*x(0552
67 7k Bl z 411422%%xkxkx%%k421 7
68 7K POE g 411425%%skkxx4%006 1
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69 KX = 7 411421 %xkkk%k%x6052
70 7K S 1E 7 411424%5x%kxk%k%x%x281X
71 JE] = e 411403%%xxx%x%%3726
72 KX 2H e 411402%%xx*x%k%*6426
73 £ % & 411423%xxkkx%%0062
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